Equal 9 step grey scaling betweeb* g3n=20.0 andL*y,,=103.0,Ype1=3.6, normalisation greyU

L*0an=20.0,L%0a=61.5,L* 0aw=103.0,Yoan=3.0, Y0a=29.8, Yoan=108.0,Coay=Yoaw: Yoan=36.0
L*tan=29.1,L*tau=61.5,L*taw=99.8, Yian=5.9, Ytau=29.8, %taw=99.6, Gay=Ytaw: Ytan=16.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 100, g%5= 99 9%= 75, g%y= 68 9%= 97, g'g= 97
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) V113 *a Al*la
Og 103.0 1.0 1080 1.0 99.8 1.0  99.6 1.0 99.8
100+ : 9.7 8.7
8 926 0875 821 0754 90.1 0.862 765  0.877 91.1
1 9.6 8.8
7 823 075 608 0.55 804 0.726 575  0.752 82.3
: 9.5 8.9
ST @6 719 0625 435 038 70.9 0591 42.0  0.627 73.4
: 9.4 8.9
@5 615 05 298 0256 615 0.458 29.8 05 64.5
3 9.1 9.0
50+ @4 512 0375 194 0.15§ 52.486 0.329 205  0.373 55.5 oo
@3 208 025 117 0088 43.8 0.207 13.7 0.247 46.6
: 7.9 8.7
@2 304 0125 64 0032 358 0.095 8.9 0.124 37.9
25+ : 6.7 8.7
@: 200 00 30 00: 201 00 59 0.0 29.1

. ? N YoaitYe
L AL* = = i normalisation: Yigju=Yoay 0" Oref
0l AL*g104  (=12,..8) | tail=Yoau g 22 el
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